Warm Up November 30, 2018

Solve the system of equation using graphing (on the calculator),
substitution, and elimination.
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SYSTEMS OF EQUATIONS (oolications

Many real world problems can be modeled and solved using a
system of equations. Use the process below to solve these problems.
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4, The sum of two numbers is 34. Twice the first
number minus the second is 6. Find the
numbers.

ircle the numbers
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ox key words and use
Math notation
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5. The sum of two numbers is 20. The difference 6. Th : E’-:! On
between three times the first number and ijwicefhe second numbe
twice the second is 40. Find the two
numbers.
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11. A garden supply store selff two typesbf lawn mowers. The smaller mower cost
the larger cos{($329.97) 130 totalnowers were sold and the

year wa{$8379.70 ¥ind hNOW many of each type were sold.

X=SmallerR Mouer

wo ow many hotdogs and bags of popcormn were purchased

13. A group of{40 childrenjattended a baseball ggme.on a field trip. Each ghild received either
a hot ill of bag of popcom. Hot dogs werd($2.25(pndpbpcom wo f the bill
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17. Mary has a collection offnickels bnd‘}uorters or dtotal value F $4.90. ¥f she hos@

total, how many of each kind are meree

X=Fof Nickels X-Ha:'%-&
‘3‘:# of Quakturs Q0% 5\3'-' 4.90




19. Your math teacher tells you that the next test is wo
Multiple-choice questions are
How many of each type of question are there?
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Systems Word Problems Cheat Sheet

(17, 8)
($8.50, $6.50) ($1.15, $2.45) ($8.50, $6.50)
(14.22)  (16,4) (321, 227) (15, 6) (135, 186)
($1.19, $1.39) (13, 11) (50.26, $0.32)
(30, 8) i)
(24, 18) (19, 11)
(76, 24) (10, 15)
(28, 14) (27, 40)

(Answers to #1- 20)



